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                                                        KNOWLEDGE                   (10M) 

I. Write the number in figures.                                                          2x 1=2 

 

a) One hundred 

 

b) Five hundred and twelve   

 

II. Write the given numbers in words.                 

                                                                                                          2 x 1 = 2. 

a)  432   =    ___________________________ 

 

b) 605   =   ____________________________ 

 

III. Write the expanded form of the following numbers.             2 X1 =2 

a)         952   =  

b)          870  = 
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IV. Guess these words by looking at their halves.                          2x2=4 

 

 

 

                                         

 UNDERSTANDING                  (10M) 

V. Write the missing numbers.                                                            2x1=2 

 

1.    120, 122,    _____,   126 

 

2.    63,    65,     ______,   69 

 

VI. Count these cards and write the number.                                    2x2=4 

10 

1.                                                                            =     

                        

2.  

  

VII. Colour the numbers as directed.                                                        8x1\2=4            

10                  2                   150                     1   Digit   Green 

                  6                  35                   936                    2    Digits Yellow 

               752                 54                                              3    Digits   Red 

                                       

  ABILITY TO COMPUTE                                     (10 M) 

10  10 



 

VIII. Fill in the blanks.                                                                    2 x 1=2 

1.  9 added to 28 gives   ___________. 

2. 10 less than 34 is      ___________. 

 

IX. Answer the following.                                                           2x2=4 

 

1. Shanu found 138 pebbles. Karim found 44 pebbles. 

How many pebbles did they find in all? 

   Sol:  

 

 

2. Find the sum : 

6  8  2  

+        2   3  2 

     ___________ 

 

X. Answer the following.                                                             1x 4=4 

         Count the given notes and find the total amount. 

1. Rs.100           Rs. 100            Rs.100       =      

                                   Rs.  20             Rs.  10       = 

                                                            Rs.     1      =  

                                                               Total      =     _________                                 

                                     PROBLEM SOLVING ABILITY                                              ( 10M) 



XI. Fill in the blanks.                                                                                     2 x1=2 

1.  37 +  ________   = 47 

 

2. 4 and  37 more  is   ________ 

 

XII. Answer the following.                                                                             2x2=4 

1. A shop keeper Rafi had 153 candles.  Paras gave him 237 

More candles.  How many candles does Rafi have now? 

Sol:  

  

 

 

2. Write the place and place value for underlined digit in the given number. 

 

        562             place            _________ 

                   

                            Place value    ___________ 

 

 

XIII. Split and add the given numbers.                                                   1X4=4 

    

1)     37  +  22 

 

     


